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NOTES: Section 12.3 - Solving Radical Equations

Goals: #1 - I can solve a radical equation.

Homework: Section 12.3 Worksheet !,' 'D' : '_'\; 4
Warm Up:
1. Simplify the expression.
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Exploration #1: Work with a partner and answer the following questions.

1. Solve the following equations:

a. x2=25 b. 3x2 -7 =41

VX = 75 %= W

2. What operation “undoes” squaring a number?
SQUOXR YOO

3. What operation “undoes” taking the square root of a number?
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Notes:

To SQ\VQ- radical equations, we ;3 Il H(L ‘!?_- both sides of the equation.

Example #1: Solve the radical equation.

1.Vx—-7=0 2.V2x—-3+4+4=5
7 4 -4 -4

VX =1 Ix-3 =\
(V%) = (1 Vzx=3) = QO

=14\ 1% -3~

| 1x -4
%=2|
You practice: Solve the radical equation.
1.Vx—6=4 2.V3x+1-3=1
(vx) "= (1) R

xfb‘“—\\o m‘iuf

Ix-21) (KT = T
- 2x +1 =10

X150
s |
Notes: s
Squaring both sides of an equation can introduce a SQ\\) h U n that does

iﬁ“ i satisfy the original equation. This is called an Qﬁw 0»‘\“ \) \ S(\\\l ﬂ\] ‘\

When we solve by ' )({ \) Qﬂ \ n-g both sides of an equation, we need to check each
solution in the (1A 3 \ Y\M equation.
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Example #2: Solve the radical equation.
1. Vx+2=x 2.Vx+13=0
W)™ = (X)) "B -
X+71=X" ALSE
0= X=X~ ()= )

0= x-Dx ) o NGO E/-\
= s

= _ 2 VAT 1341370
11l = ' 26 70 )
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You practice: Solve the radical equation. =
1. x=+V8-2x 2.Vx+4=0
0= W) “
X" 3 -2x =
¥ r1x -V =0 ()" = (-9)"

LR [ |
@\m(\x %Q A0+ 49 =0
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